| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g - - Entries 3139 1g - ~— Entries 3139
E I : : Mean 0.2963 E : + | Mean 2.361
r Std Dev 0.4896 F N : Std Dev 2.364
10_15_ v missing_inner_layers 10_15_ """"""""" P = missing_outer Tayers
F Entries 2991 F : ¢ [Entries 2991
r Mean 0.3056 r : Mean 2.413
_ Std Dev 0.4949 _ . Std Dev 2.385
107 E MRS 107 R 4 v :
o missing_inner_layers F H . missing_outer_layers
L Entries 3062 L i [ Entries 3062
3 Mean 0.3047 Bl D 1. | Mean 24
10 Std Dev 0.4945 10 : + |Std Dev 2.382
: - ] : : [
I missing_inner_layers o missing_outer_layers
—4 L Entries 2555 —4 L Entries 2555
10 E Mean 0.3252 10 E H H Vlean 2.626
r Std Dev 0.5062 r N N Std Dev 2.577
-5 e ] IR SR - e N
107 T 10 : :
o, [TURT TP OO P TOUUE TOP TP I o[ |
o1()L.64_""!""!""I"" ! ! ! ! 0106_||||!|||
[0 S = @
s :

0 05 115 2 25 3 35 4 45 5

— n ] —Global_mKFtorgmal_RECO
m——— DQM_V0001_R000000001__Global__mkFitNewDeti__RECO
[ mean hi{ = DQM_V0001"R000000001 _Global _mkFitNewDett33 _RECO
e DOM V0001 _R000000001 _Global __mkFitNewDetNoF __ RECO
— 20 - Entries 3139
» - Mean 8.489
> 18 [ Std Dev 4.884
/u\) r R H 1
= - hits
5 16 Entries 2991
14 10
12 - i
- Entries
I L. Mean 8.563
10 Std Dev 4.893
L ]
10 F: hits
F Entries 2555
- Mean 8.857
. Std Dev 5.073
1=
o +.0 o F
5 5 ¥
o T oof
0.8F
0.95C . 07t URBSEINIL OIS S
=3 3 0 15 20 25 30 35 40
track n track hits

[Nofreco track vs pT |

num_reco_pT
Entries 4183
r Mean 0.7632
1071 Std Dev 2172
E num_reco_pT
N Entries 3932
o Mean 0.7835
107 {std Dev 2225
E : I
= num_reco_pT
3 B Entries 4049
10°F
B num_reco_pT
10_4 E Entries 3468
E Mean
o Std Dev
-5 H
N0 ol R A | R | R
-6 I ]
o10:3F :
% E :
xr 12F 5
11 i
o 1
1 e

iy
o
I8
[N
=
o




	Contents
	Page 1


